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5.  sin90°+cos0° —tan0° = A , sin0° + tan 0° + cos 90° = B 2 & o,
AB 9] 327

@ -2 @ -1 @)0 @ 1 ® 2

A=141-0=2,B=0+0+0=00°]22
~AB=2%x0=0




6. T3 5 A4 3ol A HAR &2 AS 12 H?
@ sin20° > sin49° @ sin31° > cos31°
@ sin20° = cos30° @ sin45° > cos45°

@Sin 23° < cos23°

0°<x<45° 2l HEOA sinx < cosx 0], x =45° 4 o,

sin x = cos x < tan x ©|T}.
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2Zte sin cos tan

14° 0.2419 0,9703 0.2493
15° 0.2588 0.9859 0.2679
16° 0,2766 0,9613 0.2867

sin x = 0.2766 , tany = 0.2493

O 28° @ 29° @30° @ 31° ® 32°

sinx = 0.2766 .. x = 16°
tany = 0.2493 ..y = 14°
x4 y=16°+ 14° = 30°




2te sin cos tan

54° 0.8090 0.5878 1,3764
Gl 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1,.4826

@® 8.192 @5.736 ® 5.878 @ 8.09 ® 8.29

/C = 55° o|B 2
x =10 X cos 55° = 10 x 0.5736 = 5.736




11. o3 O3 Zo]l & 1 AB, AC 9
Z0]7F 40 cm 91 o] 5HAZHE ABC
o] Yol & ojysto] Fatofat, (H,
sin 20 ° = 0.3420, cos 20° = 0.9397)

@ <F 600 @ <F 700 @ <F 701
@%“ 752 ® °F 755

AABC oA Hjzte] gto] 180° o] B2
/A =180°-2x55°="70°

AABC = 1 X 40 x 40 x sin 70 °
= — % 1600 x cos (90° = 70°)

= 3 X 1600 X cos20°
= 800 x 0.9397 = 752 (cmZ)
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BC = 2tan60° = 2 x V3 =23

CE = V6 xcos45° = VB x —— = V3
]

Sx=BC-CE=2V3- V3= 13




18. A4 y=x+ 2% xF0] o] F= o749 27]E F5HH?

@ 30° @45° ® 50° @ 60° ® 90°

(AA9 71&7] )= ij% = tana©|T}.

2tA tana =1, a = 45°9|th




19. x=30°22 & o, sinx, cosx, tanx2 HAE vt HL?

@ sinx < cosx < tan x

@sinx < tanx < cos x

® tanx =sinx < cosx

@ cosx < tanx < sinx

@ sinx < cosx = tanx
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sin(2x — 10°) = A of, x o] FH27 (F, 0° < x <45°)
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® 15° @ 20° ® 25° @ 30° (@)35"
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sin(2x — 10°) = \/_(0° < x < 45°) oA
sin 60° = \/75 O]EE 2x - 10° = 60°
2x = 70°

Sox = 35°




21. o x 9 FolM 7 2 A7 (00 < x < 90° O] )

@tanx =3 @ sin(x+10°) =

® cos(2x-10°) = ? @ tan(2x+30°) =1
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® sinx = cosx
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22. tan(2A-30°) = V3 & @, V2(sin A + cos A) — 2 9] & Fotoft,
(2 0°<A<90°)
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tan 60° = V3 ©]B2 2A — 30° = 60°, A = 45° O|t}. ThEhA
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23. T2 4tZH]o] 5 KR Fol th2-g WESH= sy 9} £y o Ti5He]
Lx+ 2y ©] 2712 Tk,

2t sin cos tan

14° | 0.2419 | 0.9703 | 0.2493
15° | 0.2588 | 0.9659 | 0.2679
16° | 0.2756 | 0.9613 | 0.2867
17° | 0.2924 | 0.9563 | 0.3057
18° | 0.3090 | 0.9511 | 0.3249
19° | 0.3256 | 0.9455 | 0.3443
20° | 0.3420 | 0.9397 | 0.3640
21° | 0.3584 | 0.9336 | 0.3839

sinx = 0.2588 tany = 0.3640
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sin15° = 0.2588 ©|B2.& x = 15 ©]1L
tan 20 = 0.3640 ©| 2.2 y = 20 ©|t}.
wabA] zx + £y = 15° 4 20° = 35° ©]t},
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28. ta T AL A7F sin30°9F A 2> A2?

@® cos60°

@ tan45° x sin 30°
@ % (cos 60° x tan 60°)

@ %(Sin 30° + cos 60°)

® 2 X (sin30° X cos 30° x tan 30°)

~&B

: o 1
® sin 30 -~ 3

ﬁ

1 1 1 3
§(cos60° X tan 60°) = 5 X 5 x V3 = - ot}
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® y= V3x+2
V3x-y+2=0y= V3x+2°|E& tana® = V3,a° = 60°
olt}y. otz st A4 x £3 150° & o] FL y W] 2

olmg A (0,2) & A|tHe 24 0] YA Aolct,

wEhA y = tan 150°(x — 0) + 2, y = —§x+2 ot}
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32. O-g 193} 2o] 5.0ptAB o] g 9%
Z+o]l 37]7} 60° o], AB = 8cm QI ¥
of tsto] M AH P2 Yolg 75t
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3 £ (x) = cosx+sinx+3 (0° < x < 90°) 0] HHZES 712 wjo]

x O] g oot
> o
[> Heh: 60 °

sin® x + cosx2 = 10|22
f(x) =cosx+1—-cos?x+3
= —cos?x—+cosx+4

(cos 1)2-1— i
T3 1

0°<x<90°Y M, 0<cosx<10]BZ 3 f(x)

o ), HHgS Z=nt
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